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QUESTION 1

A Machine Learning Specialist receives customer data for an online shopping website. The data includes demographics,
past visits, and locality information. The Specialist must develop a machine learning approach to identify the customer
shopping patterns, preferences and trends to enhance the website for better service and smart recommendations.

Which solution should the Specialist recommend?

A. Latent Dirichlet Allocation (LDA) for the given collection of discrete data to identify patterns in the customer
database.

B. A neural network with a minimum of three layers and random initial weights to identify patterns in the customer
database

C. Collaborative filtering based on user interactions and correlations to identify patterns in the customer database
D. Random Cut Forest (RCF) over random subsamples to identify patterns in the customer database
Correct Answer: C

In natural language processing, the latent Dirichlet allocation (LDA) is a generative statistical model that allows sets of
observations to be explained by unobserved groups that explain why some parts of the data are similar.

Amazon SageMaker Random Cut Forest (RCF) is an unsupervised algorithm for detecting anomalous data points within
a data set

Neural network is used for image detection.

QUESTION 2

A Machine Learning Specialist is planning to create a long-running Amazon EMR cluster. The EMR cluster will have 1
master node, 10 core nodes, and 20 task nodes. To save on costs, the Specialist will use Spot Instances in the EMR
cluster.

Which nodes should the Specialist launch on Spot Instances?

A. Master node

B. Any of the core nodes

C. Any of the task nodes

D. Both core and task nodes

Correct Answer: C

https://docs.aws.amazon.com/emr/latest/ManagementGuide/emr-plan-instances-guidelines.html

QUESTION 3

An agricultural company is interested in using machine learning to detect specific types of weeds in a 100-acre
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grassland field. Currently, the company uses tractor-mounted cameras to capture multiple images of the field as 10x10
grids. The company also has a large training dataset that consists of annotated images of popular weed classes like
broadleaf and non-broadleaf docks.

The company wants to build a weed detection mode! that will detect specific types of weeds and the location of each
type within the field. Once the model is ready, it will be hosted on Amazon SageMaker endpoints. The model will
perform real-time inferencing using the images captured by the cameras.

Which approach should a Machine Learning Specialist take to obtain accurate predictions?

A. Prepare the images in RecordlO format and upload them to Amazon S3. Use Amazon SageMaker to train, test, and
validate the model using an image classification algorithm to categorize images into various weed classes.

B. Prepare the images in Apache Parquet format and upload them to Amazon S3. Use Amazon SageMaker to train,
test, and validate the model using an object-detection single-shot multibox detector (SSD) algorithm.

C. Prepare the images in RecordlO format and upload them to Amazon S3. Use Amazon SageMaker to train, test, and
validate the model using an object-detection single-shot multibox detector (SSD) algorithm.

D. Prepare the images in Apache Parquet format and upload them to Amazon S3. Use Amazon SageMaker to train,
test, and validate the model using an image classification algorithm to categorize images into various weed classes.

Correct Answer: C

To detect specific types of weeds requires object detection. Object detection algorithms are designed to identify objects
and their locations within an image.

Single-shot multibox detectors (SSD) are a type of object detection algorithm that are well-suited for real-time
inferencing and have been shown to be effective for a variety of object detection tasks.

By preparing the images in RecordIO format and using Amazon SageMaker, the company can easily train, test, and
validate the model, making it easier to deploy the model in a scalable and secure environment.

QUESTION 4

A company\\'s Machine Learning Specialist needs to improve the training speed of a time-series forecasting model
using TensorFlow. The training is currently implemented on a single-GPU machine and takes approximately 23 hours to
complete. The training needs to be run daily.

The model accuracy js acceptable, but the company anticipates a continuous increase in the size of the training data
and a need to update the model on an hourly, rather than a daily, basis. The company also wants to minimize coding
effort and infrastructure changes

What should the Machine Learning Specialist do to the training solution to allow it to scale for future demand?

A. Do not change the TensorFlow code. Change the machine to one with a more powerful GPU to speed up the
training.

B. Change the TensorFlow code to implement a Horovod distributed framework supported by Amazon SageMaker.
Parallelize the training to as many machines as needed to achieve the business goals.

C. Switch to using a built-in AWS SageMaker DeepAR model. Parallelize the training to as many machines as needed
to achieve the business goals.

D. Move the training to Amazon EMR and distribute the workload to as many machines as needed to achieve the
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business goals.

Correct Answer: B

QUESTION 5

A city wants to monitor its air quality to address the consequences of air pollution A Machine Learning Specialist needs
to forecast the air quality in parts per million of contaminates for the next 2 days in the city As this is a prototype, only
daily data from the last year is available

Which model is MOST likely to provide the best results in Amazon SageMaker?

A. Use the Amazon SageMaker k-Nearest-Neighbors (KNN) algorithm on the single time series consisting of the full year
of data with a predictor_type of regressor.

B. Use Amazon SageMaker Random Cut Forest (RCF) on the single time series consisting of the full year of data.

C. Use the Amazon SageMaker Linear Learner algorithm on the single time series consisting of the full year of data with
a predictor_type of regressor.

D. Use the Amazon SageMaker Linear Learner algorithm on the single time series consisting of the full year of data with
a predictor_type of classifier.

Correct Answer: C

Reference: https://aws.amazon.com/blogs/machine-learning/build-a-model-to-predict-the-impact-of-weather-on-urban-
air-quality-using-amazon-sagemaker/?ref=Welcome.Al
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